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QUESTION 1

A network administrator has to reconfigure the company firewall to allow access to a website on the internet. Which
technology will provide the administrator with the correct IP address?

A. ARP

B. DHCP

C.DNS

D. HTTP

Correct Answer: D

Reference: https://www.forescout.com/company/resources/idrac-9-user-guide/ (55)

QUESTION 2

A PowerEdge 14G server administrator has to shut down a server for urgent intervention. They don\\'t want to risk any
data loss but don\\'t know the OS password. What steps should be taken?

A. Connect to Lifecycle Controller > Server management > Send OS shutdown command
B. Connect to iDRAC > Dashboard tab > click Graceful Shutdown

C. Connect to iDRAC > Dashboard tab > click Power Off System in the dropdown menu
D. Connect to Lifecycle Controller > Server management > Power Off System

Correct Answer: D

QUESTION 3

What is a benefit of SAS technology?

A. Has no moving parts available

B. Used for storage back-plane or HDD carrier applications
C. Easy to manage cable and cable length

D. Has two drives per cable connector

Correct Answer: B

Reference: http://www.mouser.com/ds/2/18/FCI_bwb_sas-941993.pdf

QUESTION 4

DEA-41T1 VCE Dumps | DEA-41T1 Exam Questions | DEA-41T1 Braindumps 2/3


https://www.geekcert.com/dea-41t1.html
https://www.geekcert.com/dea-41t1.html
https://www.geekcert.com/dea-41t1.html

VCE & PDF https://lwww.geekcert.com/dea-41t1.html
2024 Latest geekcert DEA-41T1 PDF and VCE dumps Download

GeekCert.com

A customer needs to implement a vSwitch that will allow communication between certain virtual machines (VMs). The
traffic must be segmented to the VMs and separated from the host. Which type of vSwitch meets their needs?

A. External switch
B. Internal switch
C. Private switch

D. Restricted switch

Correct Answer: B

QUESTION 5

An administrator is scheduling a software patch in an enterprise environment. What is a consideration for the
administrator regarding potential impact to users?

A. Server Redundancy
B. Update file size

C. Disruption of workflow
D. Network Bandwidth

Correct Answer: C
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